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Q.2 a. List the basic functions of a radio transmitter and explain briefly the
functions. @)
Answer:
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c. Discuss the significance of the following terms with reference to noise:
(4x2)
(i) Addition of noise due to several sources
(ii) Signal to Noise ratio
(iii) Noise figure
(iv) Noise temperature
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Q.3 a. Draw and explain the circuit diagram of Grid-modulated class C
amplifier used in AM generation. )
Answer:

b. State the advantages of SSB and calculate the percentage power
saving when the carrier and one of the sidebands are suppressed in an
AM Wave modulated to a depth of (i) 100 percent (ii) S0 percent. 8
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Q.4 a. Compare the following modulation systems:- (t))

(i) FM and PM
(ii) Wideband FM and Narrow band FM
Answer:
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b. Discuss varactor diode modulator to generate frequency modulated

wave.
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Q.5 a. Discuss the following terms with reference to receivers: 4 x2)

(i) sensitivity

(ii) selectivity

(iii) image frequency

(iv) double spotting
Answer:
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b. Draw the block diagram of Pilot-Carrier single-sideband receiver and

explain its operation. t))
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Q.6 a. Explain briefly the following concepts with reference to transmission
lines:- )
(i) types of losses
(ii) standing Wave Ratio
(iii) normalization of impedance
(iv) characteristic impedance
Answer:
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b. Discuss operation of the following with the help of neat diagrams: -  (8)
(i) Baluns
(ii)Slotted lines
Answer:
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Q.7 a. Describe group velocity and phase velocity in a wave guide. “)
Answer:
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b. A wave guide is propagated in a parallel — plane wave guide. “4)
The frequency is 6 GHz and the plane separation is 3 cm. Calculate:
(i) The corresponding group velocity

(ii) The corresponding phase velocity
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c. With the aid of a neat diagram, explain the operation of directional
coupler. ®
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Q.8 a. Compare Pulse Amplitude Modulation & Pulse Position Modulation. (5)
Answer:
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b. What do you mean by telemetry? What are its applications? Explain
the operation of Radiotelemetry transmitter using frequency division
multiplex with TDM for subcommutation. (11)
Answer:
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Q.9 a. Write short note on TDM. )
Answer:
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b. Discuss the following in brief:- )
(i) Co-axial cable

(ii) Fibre optic links
Answer:
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